



 \square

$$\begin{aligned}
\begin{aligned}
\begin{aligned}
\begin{aligned}
\begin{aligned}
\begin{aligned}
\begin{aligned}
\mathbb{E} \\
Ann &= \int_{0}^{2} \left(\sqrt[4]{x} - 0 \right) dx + \int_{1}^{1} \sqrt[4]{x} - (x-2) dx \\
&= \frac{2}{3} x^{3/2} \Big|_{0}^{2} + \left(\frac{2}{3} x^{3/2} - \frac{x^{3}}{2} + 2x \right) \Big|_{1}^{2} \\
&= \frac{2}{3} \sqrt{8} + \left[\left(\frac{16}{3} - \sqrt{8} + 8 \right) - \left(\frac{2}{3} \sqrt{8} - 2 + 4 \right) \right] = \left[\frac{6}{3} + \frac{6}{3} - \frac{12}{3} = \left[\frac{10}{3} \right] \\
\hline
\end{aligned}
\\
\underbrace{\text{Mather method: Integrate uset y.} \\
Ann &= \int_{0}^{2} \left(\sqrt{4} + 2 \right) - \sqrt{2}^{2} dy \\
&= \left(\frac{4}{2} + 2y - \frac{4^{3}}{3} \right) \Big|_{0}^{2} \\
\end{aligned}
\\
\begin{aligned}
x &= y^{2} \notin y^{2} \sqrt{2} \\
&= \left[\left(2 + 4 - \frac{8}{3} \right) - \left(0 + 0 - 0 \right) \right] = \left[\frac{18}{3} - \frac{8}{3} - \frac{10}{3} \right] \\
\end{aligned}
\\
\underbrace{\text{Motive find watch of slicing}} \\
\end{aligned}
\\
\underbrace{\text{Motive find watch of slice} = \pi r^{2} = \pi \left(\frac{1}{R} y \right)^{2} dy \\
\end{aligned}$$

$$= \int_{0}^{h} \pi \left(\frac{R}{hy}\right)^{2} dy = \int_{0}^{h} \frac{\pi R^{2}}{h^{2}} y^{2} dy = \frac{\pi R^{2}}{h^{2}} \frac{y^{2}}{3} \Big|_{0}^{h} = \frac{\pi R^{2}h^{3}}{3h^{2}} = \frac{1}{2} \pi R^{2}h^{3}$$

Example: Volume of a humisphere.

$$r = x \text{ volue} = \sqrt{R^{2} - y^{2}}$$

$$Vol = \pi r^{2} dy = \pi \left(\frac{R^{2} - y^{2}}{y}\right) \frac{1}{p}$$

$$Vol = \pi r^{2} dy = \pi \left(\frac{R^{2} - y^{2}}{y}\right) \frac{1}{p}$$

$$= \int_{0}^{R} \pi \left(\frac{R^{2} - y^{2}}{y}\right) dy = \int_{0}^{R} \pi R^{2} - \pi y^{2} dy$$

$$= \left(\pi R^{2} - \pi \frac{1}{3}y^{2}\right) \Big|_{0}^{R} = \pi R^{3} - \frac{1}{3}\pi R^{3} = \left(\frac{2}{3}\pi R^{3}\right)$$
Volume of other "solid formal by revolving the region under $y = \delta \overline{x}$ from $x = 0$ to y

$$a round the x-axis. Fractices Volume.$$

$$dx$$

$$= \pi (\sqrt{x}) dx$$

$$= \pi (\sqrt{x}) dx$$

$$= \pi (\sqrt{x}) dx$$

Sometimes this method is called the "disk method".





